This test contains a table of irregular columns and another with regular columns (but with
merged cells). Needs to be done in Acrobat after the PDF is created.

Table 1 (Fail)
Tokyo Seoul Bangkok Singapore
Data A 980 1001 575 2023
Data B 20921 6462 33311 17159
Data C 293 99 88 317
Data D 83 100 137 674
Table 2 (Pass)
Type A Type B Type C
Tokyo Seoul Bangkok Singapore
Data A 980 1001 575 2023
Data B 20921 6462 33311 17159
Adjusted data
Data C 293 99 88 317
Data D 83 100 137 674
Summary | Passed




